Converting Between mm, cm, m and km (A)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 & 8 g ig § £ 5 2
) g T 2 S: 15 8 E g g
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

. Convert 0.0968 m to mm

Convert 109 200 mm to m

Convert 0.126 cm to mm

Convert 2 700 000 000 mm to km

Convert 9 475 000 000 mm to km

Convert 0.757 km to m

Convert 27 m to cm

. Convert 7 740 000cm to m

Convert 95 450 cm to mm

Convert 21 000cm to km
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Converting Between mm, cm, m and km (A) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

. Convert 0.0968 m to mm

0.0968 m X 10 X 10 X 10 = 96.8 mm

Convert 109 200 mm to m

109 200mm = 10 +10+10=109.2m

Convert 0.126 cm to mm

0.126 cm X 10 = 1.26 mm

Convert 2 700 000 000 mm to km

2700 000 000mm +10+10+10+ 10+ 10 + 10 = 2700 km
Convert 9 475 000 000 mm to km

9475000000mm +-10+10+10+10+ 10 - 10 = 9475km
Convert 0.757 km to m

0.757km X 10 X 10 X 10 = 757 m

Convert 27 m to cm

27m X 10X 10 = 2700cm

Convert 7 740 000 cm to m

7740 000cm =+ 10+ 10 =77400m

Convert 95 450 cm to mm

95450 cm X 10 = 954 500 mm

Convert 21 000 cm to km

21000cm +-10+10+10=+10+10 = 0.21 km
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Converting Between mm, cm, m and km (B)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
g g ¢ § gl ig 2z :
B E T & 39 135 8 E E z
: : : : : :E: : : : : : : : —p X
G M k h dai id ¢ m 2 n
9 8 7 6 5 4 3 2 1:0: 2 3 4 -5 -6 -7 8 9

. Convert 0.2352km to mm

Convert 792cm to m

Convert 2.9 cm to mm

Convert 0.601 m to mm

Convert 13 200 000 mm to km

Convert 36 000 mm to m

Convert 0.65m to cm

Convert 28 600 m to km

Convert 2.901 km to cm

Convert 8 343 000 mm to cm
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Converting Between mm, cm, m and km (B) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 % o 5§ §: g EE 3 z
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.2352 km to mm

0.2352km X 10 X 10 X 10 X 10 X 10 X 10 = 235 200 mm
Convert 792cm to m

792cm +-10+10=7.92m

Convert 2.9 cm to mm

29cm X 10 = 29 mm

Convert 0.601 m to mm

0.601m X 10 X 10 X 10 = 601 mm

Convert 13 200 000 mm to km

13200000mm +-10+10+10+10+10+10 = 13.2km
Convert 36 000 mm to m

36 000mm +-10+-10+10=36m

Convert 0.65m to cm

0.65m X 10 X 10 = 65cm

Convert 28 600 m to km

28 600m - 10 =10 + 10 = 28.6 km

Convert 2.901 km to cm

2.901km X 10 X 10 X 10 X 10 X 10 = 290 100 cm
Convert 8 343 000 mm to cm

8343 000 mm =+ 10 = 834 300 cm
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Converting Between mm, cm, m and km (C)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. _ e
S % 8 g ig § £ 3 z
B S 2 & w' 15 8 E S S
: : : : : :E: : : : : : : : —p X
G M k h dai !d ¢ m 2 n
9 8 7 6 5 4 3 2 1:0: 2 3 4 -5 -6 -7 8 9

. Convert 0.081 cm to mm

Convert 422.4 m to mm

Convert 8.5m to mm

Convert 28 950cm to m

Convert 0.000026 km to mm

Convert 560 cm to m

. Convert 68 000 cm to km

Convert 0.0001096 km to mm

Convert 14 360 000 m to km

Convert 16 000 mm to cm
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Converting Between mm, cm, m and km (C) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 > s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.081 cm to mm

0.081cm X 10 = 0.81 mm

Convert 422.4 m to mm

422.4m X 10 X 10 X 10 = 422 400 mm

Convert 8.5m to mm

8.5m X 10 X 10 X 10 = 8500 mm

Convert 28 950 cm to m

28950cm =10 =10 = 289.5m

Convert 0.000026 km to mm

0.000026 km X 10 X 10 X 10 X 10 X 10 X 10 = 26 mm
Convert 560 cm to m

560cm=10+10=5.6m

Convert 68 000 cm to km

68 000cm - 10+10+10+10+ 10 = 0.68 km
Convert 0.0001096 km to mm

0.0001096 km X 10 X 10 X 10 X 10 X 10 X 10 = 109.6 mm
Convert 14 360 000 m to km

14360000m +~ 10 - 10 - 10 = 14 360 km

Convert 16 000 mm to cm

16 000 mm + 10 = 1600 cm
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Converting Between mm, cm, m and km (D)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 & 8 g ig § £ 5 2
) g T 2 S: 15 8 E g g
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

. Convert 166 000 000 mm to km

Convert 0.0894 m to cm

Convert 860 000 000 mm to km

Convert 29 900 000 m to km

Convert 0.00013 m to mm

Convert 1 220 000 000 cm to km

Convert 0.0436 m to cm

Convert 98 cm to mm

Convert 0.63 m to mm

Convert 352 000 mm to cm
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Converting Between mm, cm, m and km (D) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
5 v 2§35 i3 %% 2
& E T 2 5 135 8 E E z
: : - : : —» X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 1505—1 2 3 4 5 6 -7 -8 9

. Convert 166 000 000 mm to km

166 000 000mm +10+10+10+ 10+ 10+ 10 = 166 km
Convert 0.0894 m to cm

0.0894m X 10 X 10 = 8.94cm

Convert 860 000 000 mm to km

860 000 000 mm + 10 +-10+ 10+ 10+ 10 = 10 = 860 km
Convert 29 900 000 m to km

29900000m = 10 +10 + 10 = 29 900 km

Convert 0.00013 m to mm

0.00013m X 10x 10X 10 = 0.13 mm

Convert 1 220 000 000 cm to km

1220000000cm -10+10+10+10=+10 = 12200km
Convert 0.0436 m to cm

0.0436 m X 10 X 10 = 4.36 cm

Convert 98 cm to mm

98cm X 10 = 980 mm

Convert 0.63 m to mm

0.63m X 10 X 10 X 10 = 630 mm

Convert 352 000 mm to cm
352000mm =10 = 35200cm

Math-Drills.com




Converting Between mm, cm, m and km (E)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
@ o) : ! T o
5 & 2 38 § 13 & 2 S s
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0023 km to m

Convert 1 860 000 000 mm to km

Convert 609 000 cm to km

Convert 408.9 cm to mm

Convert 0.00084 m to mm

Convert 42 790 mm to cm

Convert 1900 cm to m

Convert 6875m to cm

Convert 5950 000 mm to km

Convert 9.627 m to mm
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Converting Between mm, cm, m and km (E) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
) 2 e 8 81 13 £ E S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0023 km to m

0.0023km X 10X 10X 10 = 2.3 m

Convert 1 860 000 000 mm to km

1860 000 000mm =10 +10+10+10=+ 10+ 10 = 1860 km
Convert 609 000 cm to km

609 000cm ~-10+10+10+ 10+ 10 = 6.09km
Convert 408.9 cm to mm

408.9cm X 10 = 4089 mm

Convert 0.00084 m to mm

0.00084m X 10 X 10 X 10 = 0.84 mm

Convert 42 790 mm to cm

42790 mm <+ 10 = 4279cm

Convert 1900 cm to m

1900cm - 10+10=19m

Convert 6875 m to cm

6875m X 10 X 10 = 687 500 cm

Convert 5 950 000 mm to km

5950 000mm + 10 +10+10+10+ 10+ 10 = 5.95km
Convert 9.627 m to mm

9.627m X 10 X 10 X 10 = 9627 mm
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Converting Between mm, cm, m and km (F)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
. ' — o
5 & c 5 g ‘g E £ > s
B S 2 & w' 15 8 E S S
: : - : : > X
G M k h da: 'd ¢ m M n
9 8 7 6 5 4 3 2 15051 2 3 4 5 -6 -7 -8 -9

. Convert 2040 mm to m

Convert 0.7521 m to cm

Convert 43 300 000 m to km

Convert 4 200 000 cm to km

Convert 0.0043 m to mm

Convert 0.0000954 km to mm

Convert 0.006143 km to mm

. Convert 4320 mm to cm

Convert 8403 cm to m

Convert 8.97 cm to mm
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Converting Between mm, cm, m and km (F) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 b 2 5 §i i3 § = 3 £
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 2040 mm to m

2040mm =10+ 10+ 10 = 2.04 m

Convert 0.7521 m to cm

0.7521m X 10 X 10 = 75.21 cm

Convert 43 300 000 m to km

43300000m =10 +10+10 =43 300km

Convert 4 200 000 cm to km

4200000cm +-10+-10+10+10+10 =42km
Convert 0.0043 m to mm

0.0043m x 10X 10x 10 = 4.3 mm

Convert 0.0000954 km to mm

0.0000954km X 10 X 10 X 10 X 10 X 10 X 10 = 95.4 mm
Convert 0.006143 km to mm

0.006143km X 10 X 10 X 10 X 10 X 10 X 10 = 6143 mm
Convert 4320 mm to cm

4320mm =+ 10 = 432cm

Convert 8403 cm to m

8403cm + 10 + 10 = 84.03m

Convert 8.97 cm to mm
8.97cm X 10 = 89.7 mm
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Converting Between mm, cm, m and km (G)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
g g ¢ § gl ig 2z :
B E T & 39 135 8 E E z
: : : : : :E: : : : : : : : —p X
G M k h dai id ¢ m 2 n
9 8 7 6 5 4 3 2 1:0: 2 3 4 -5 -6 -7 8 9

. Convert 396 600 mm to m

Convert 3 207 000 000 cm to km

Convert 0.0004142 km to mm

Convert 5920 cm to mm

Convert 0.00286 km to mm

Convert 229 500 mm to m

Convert 2.74m to cm

Convert 5 060 000 m to km

Convert 5.2m to cm

Convert 61 mm to cm
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Converting Between mm, cm, m and km (G) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 396 600 mm to m

396 600 mm = 10 +- 10+ 10 = 396.6 m

Convert 3 207 000 000 cm to km

3207000000cm -10+-10+10+10+10=32070km
Convert 0.0004142 km to mm

0.0004142km X 10 X 10 X 10 X 10 X 10 X 10 = 414.2 mm
Convert 5920 cm to mm

5920cm X 10 = 59 200 mm

Convert 0.00286 km to mm

0.00286 km X 10 X 10 X 10 X 10 X 10 X 10 = 2860 mm
Convert 229 500 mm to m

229 500 mm =+ 10+ 10+ 10 = 229.5m

Convert 2.74m to cm

2.74m x 10 X 10 = 274 cm

Convert 5 060 000 m to km

5060 000m + 10 =10 + 10 = 5060 km

Convert 5.2m to cm

52m X 10X 10 = 520cm

Convert 61 mm to cm

61lmm =10 =6.1cm
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Converting Between mm, cm, m and km (H)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
@ o) : ! T o
5 & 2 38 § 13 & 2 S s
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m 2 n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 2 650 000 m to km

Convert 76 500cm to m

Convert 1.45cm to mm

Convert 390.4 m to mm

Convert 290 cm to m

Convert 0.9838 km to cm

Convert 9 350 000 000 mm to km

Convert 20.8 cm to mm

Convert 0.00000091 km to mm

Convert 14 000 mm to m
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Converting Between mm, cm, m and km (H) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 2 e 8 8 13 2 2 S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m [ n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 2 650 000 m to km

2650000m =10 + 10 = 10 = 2650 km

Convert 76 500 cm to m

76 500cm =10+ 10 =765m

Convert 1.45cm to mm

1.45cm X 10 = 14.5mm

Convert 390.4 m to mm

390.4m X 10 X 10 X 10 = 390 400 mm

Convert 290 cm to m

290cm +-10+-10=29m

Convert 0.9838 km to cm

0.9838 km X 10 X 10 X 10 X 10 X 10 = 98 380 cm
Convert 9 350 000 000 mm to km

9350000000mm +10+10+10+ 10+ 10+ 10 = 9350 km
Convert 20.8 cm to mm

20.8cm X 10 = 208 mm

Convert 0.00000091 km to mm

0.00000091 km X 10 X 10 X 10 X 10 X 10 X 10 = 0.91 mm
Convert 14 000 mm to m

14000mm +-10+-10+10=14m
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Converting Between mm, cm, m and km (I)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
< ) . ! o e o
5y iy 2 38 § 13 & 2 3 s
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1 E 0. 2 -3 4 -5 -6 -7 -8 9
. Convert 0.08844 m to mm

Convert 292 000 000 mm to km

Convert 0.801 km to cm

Convert 670 m to km

Convert 5.8 mm to cm

Convert 0.0061 m to cm

Convert 11 900 mm to cm

Convert 7 310 000 mm to km

Convert 72.4 m to mm

Convert 0.82m to cm
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Converting Between mm, cm, m and km (I) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
) 2 e 8 81 13 £ E S s
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.08844 m to mm

0.08844m X 10 X 10 X 10 = 88.44 mm

Convert 292 000 000 mm to km

292000 000mm +-10+10+10+10+10+ 10 = 292km
Convert 0.801 km to cm

0.801km X 10 X 10 X 10 X 10 X 10 = 80 100 cm
Convert 670 m to km

670m - 10 +10+10 = 0.67km

Convert 5.8 mm to cm

5.8mm =+ 10 = 0.58 cm

Convert 0.0061 m to cm

0.0061m X 10 X 10 = 0.61 cm

Convert 11 900 mm to cm

11900 mm <+ 10 = 1190 cm

Convert 7 310 000 mm to km

7310000mm +-10+10+10+10+ 10+ 10 = 7.31km
Convert 72.4 m to mm

724m X 10X 10 X 10 = 72 400 mm

Convert 0.82m to cm
0.82m x 10X 10 = 82cm
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Converting Between mm, cm, m and km (J)

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
@ o) : ! T o
) g s 5 §i 19 § 2 3 £
B S Z =2 wi: +o 8 E S S
: : ———————— : : > X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0089 km to mm

Convert 0.061 cm to mm

Convert 4.69m to cm

Convert 1 373 000 000 cm to km

Convert 533.7 cm to mm

Convert 42 810 000 000 mm to km

Convert 17 080 m to km

Convert 9.99 m to mm

Convert 276 900 000 mm to m

Convert 5600 cm to m
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Converting Between mm, cm, m and km (J) Answers

Name: Date: Score: /10

10.

Complete each conversion. Symbols for copying and pasting: X + 2 3.

Base
o] o : : — o— e
5 % o 5§ §: g EE 3 z
"Bh S Z =2 wi: +o 8 E £ &
: : - : : —» X
G M k h da: i1d ¢ m M n
9 8 7 6 5 4 3 2 1:+0:i-1 -2 -3 4 -5 -6 -7 -8 -9
. Convert 0.0089 km to mm

0.0089km X 10 X 10 X 10 X 10 X 10 X 10 = 8900 mm
Convert 0.061 cm to mm

0.061cm X 10 = 0.61 mm

Convert 4.69 m to cm

4.69m X 10 X 10 = 469 cm

Convert 1 373 000 000 cm to km

1373000000cm -10+10+10+10=+10 =13 730km
Convert 533.7 cm to mm

533.7cm X 10 = 5337 mm

Convert 42 810 000 000 mm to km

42 810000 000mm ~-10+10+10+10+10+10 =42 810km
Convert 17 080 m to km

17080m =+ 10 +- 10 =10 = 17.08 km

Convert 9.99 m to mm

9.99m X 10 X 10 X 10 = 9990 mm

Convert 276 900 000 mm to m

276 900 000 mm =+ 10+ 10+ 10 = 276 900 m

Convert 5600 cm to m

5600cm =+ 10+ 10 = 56m
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